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ICO &R IE] B - (-3 Reading and Use of English Part 5

Action plan

1 Read the instructions and the title, if there is one. 5 Read what the text says about the question and
What kind of text (e.g. magazine article) is it? try to answer it in your own words.

2 Quickly read the text without trying to answer 6 Look at options A, B, C and D. Which is closest to
any of the questions. What is it about? your understanding of what the text says?

3 Look at the stem of the first question, underlining 7 If you really aren’t sure, cross out any options
the key words (i.e. the most important words). that you think are wrong and then make a

4 Find the relevant part of the text. Draw a guess.
vertical line next to it and write down the 8 Repeat steps 1-7 for each guestion.

question number.

Follow the exam instructions, using the advice to Tip!  Questions may ask you to work out the
help you. meaning of words or phrases using the

context, or to focus on reference words like it

. : and this.
You are going to read an extract from a novel. For questions

31-36, choose the answer (A, B, C or D) which you think fits [ Questions could bejabout the use of

B cording to the text examples or comparison, the writer's
il g ' purpose, or the tone, (e.g. critical) of the text.

- Claire, it's Ruth. Claire held back a sigh and walked into the kitchen to
put the coffee machine on. A phone call from her sister was never over

quickly.

Ruth, darling. How are you?' As she waited for her sister to start describing
in detail her latest disaster, Claire mulled over how much to reveal about
her new business assignment. Her family would have to be told something,
of course. Not that they ever came to visit, or called her home phone, or
sent her letters. Still, it seemed only right to tell them it meant she was
moving out for twelve months. Tuning back into the phone call, Claire

realised she had missed some key information and tried to catch up with

what her sister was talking about.

‘So the doctor said it was probably lack of sleep. You know Sky is a bad sleeper and her nightmares have been worse since she
started Year Two. Claire worked out that someone was unwell, but was unsure whether it was her sister or her six-year-old::

niece.

Claire thought about her own schooling. Her parents had paid for the best, obviously, although Claire often wondered -
whether that was to ensure their three children didn’t affect their lifestyle, rather than to give their offspring a good start
in life. The school had encouraged independence and character but had no time for tears and tantrums. Claire had learned::

quickly to work hard and stay out of trouble. More than could be said for Ruth. It had been a constant disappointment to -
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her parents that, while their first and third children both achieved academic success, Ruth only acquired a reputation
for bad behaviour.

Ruth’s next sentence sharply interrupted Claire’s thoughts.

‘The tests are the week after next. That's why I'm calling. Is there any chance you could come and look after Sky? It’s

half-term and most of her friends are going skiing. Of course we can’t afford that...’

Claire inhaled deeply and forced herself not to rise to the bait. Ruth was always poor and begrudged Claire her success.

Claire accepted that looking after a child on your own probably limited your career options, but look at the ‘Harry
Potter’ author ). K. Rowling, it hadn't held her back. She was convinced Ruth could help herself if only she'd try harder.
Claire was almost too irritated by the thinly-veiled criticism to react to the request, but not quite.

‘Have Sky? How long for? When?' Claire could hear panic in her voice and forced herself to breathe in deeply. Once she
‘ was sure she was back in control of her emotions she said in a slow voice, I start a new work assignment on 1st March,
and I'll ... be on the road a lot. You know. Meeting clients!

‘Dining out on someone else’s credit card. Ruth’s voice cut in.

line 33 ‘There’s more to it than that, Claire responded quickly. Then, before Ruth could start the age-old argument, Claire
consciously lowered her voice.

‘Tell me the day you need me to have Sky, I'll check my diary.
‘Well, it’s two days, actually. Ruth sounded embarrassed.

Thinking about minding a six-year-old for two days almost made Claire choke. She gulped down her coffee and
wondered if she could use the new assignment as an excuse.

There was something in Ruth’s voice, though, that made her pause.

‘Can’'t Mum take care of her? | thought Mum and Dad were the perfect grandparents?’ It seemed odd to Claire that two

people who had no time for their own children could go mad over someone else’s, even if they were their grandkids.

‘Er, Mum’s coming with me, to the hospital.

Ruth’s words finally got through to Claire. ‘Just what tests are you having exactly?’

‘Weren't you listening? You never listen to me!

(i Claire almost smiled at the petulant tone in Ruth’s voice. For a moment they were twelve and fourteen again.
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31

32

When Claire realises who is phoning her, she

A

B
C
D

expects to hear some good news.

tries to hide her true feelings.

hopes it will be a long conversation.
knows exactly what she will say to Ruth.

Why doesn’t Claire know who is ill?

A

B
C
D

Ruth didn’t make it clear who she was talking about.
None of her other relatives had written to her about it.
She was away on business when the illness began.
She wasn’t paying attention when Ruth was speaking.

How does Claire feel about her school?

>

B
C
D

She would have achieved more at a better school.
Her parents never appreciated how successful she was there.
Her sister was better suited to that school than she was.

She may have been sent there for the wrong reasons.

What is Claire’s attitude to Ruth’s financial problems?

>

OO0 w

She feels they are largely Ruth’s own fault.

She wishes she could do more to help Ruth.

She thinks Ruth could get any well-paid job she wanted.
She feels guilty about having more money than Ruth.

What does ‘it’ on line 33 refer to?

>

OO W

spending the firm’s money

the task Claire has been given
looking after Ruth’s daughter

the reason Claire sounds stressed

What do we learn about Claire and her family?

A

B
C
D

Her relationship with her sister has completely changed since their childhood.

She realises that her parents treated her very well when she was a child.
She doesn’t understand why her parents are so close to their grandchildren.
She accepts that her mother is more interested in Ruth than in her.

Reading and Use of English Part 5

(Tipt ~ You don't need to
understand every word
of the text to be able to
answer the questions,
so don't spend too much
time on expressions you
don’t know.

Advice

31 Does a 'sigh’ show that
someone is happy or unhappy?

32 Look at the last sentences
of both the second and third
paragraphs.

33 Who does Clalre seem to
be criticising, apart from Ruth?

34 How does Claire react in
the next paragraph, after 'Of
course we can't afford that...’?

35 Look for.the main subject
of that part of the text.

36 Study Claire’s thoughts
between the dialogue with her
sister.

Choose your answer
according to what the text
says, not what you think
the correct answer should
be from your general
knowledge, or your own
opinions.

Tip!
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Action plan

1 Read the instructions, the title and any
background information. What kind of text is
it? What's the topic?

2 Quickly read through the main text. What is
each paragraph about?

3 Look quickly at sentences A-G. Do any of
them obviously fit particular gaps?

4 For each gap 37-42, study the ideas and
words that come before and after it.

5 Look for similar or contrasting ideas in the list
of sentences.

6 In both the main text and sentences A-G,
underline vocabulary links, reference words
such as this or her, and linking expressions
like also, even though, one, do and so.

7 When you have chosen your answers, read
the complete text. Does it make sense?

Tip!  Before you choose a sentence, check that the
verb forms, singular/plural, etc. in the main text
all agree.

1 Look quickly at the text on page 30.
1 What kind of text is it and what is it about?

2 What is each of the main paragraphs about? Tip!  Each time you choose one of A-G, cross it out
so that you don’t have to keep reading through

2 Follow the exam instructions, using the advice to help you. the Whola fst. This Willisave you time.

You are going to read an article about the new headquarters of the World Wide Fund for Nature (WWF).
Six sentences have been removed from the article. Choose from the sentences A-G the one which fits
each gap (37-42). There is one extra sentence which you do not need to use.

Even so, it remains in an ugly corner of a fairly unattractive town centre.

So even if you aren’t particularly concerned about the environment, as energy
costs rise you’ll want to save money on fuel bills.

Other such features include extensive glass to increase natural light, natural
ventilation, rainwater in the toilets, and heat pumps that bring warm air up
from 200 metres below.

It is hoped their new home will be a living example of that.

That means you can’t put back forests that are gone, not for a century, and
the population size is not going to shrink.

If you want to do something, you have to persuade people of the world not to
pollute.

If humanity is to survive, they must have been thinking, it will do so living in
buildings of this kind.

Reading and Use of English Part 6

37 Look for.a sentence
containing references to the
people and the place.

38 Find a reference to the
positive idea expressed in the
sentence before the gap.

39 Look for-a sentence that
adds more description of the
building.

40 Which sentence begins
with a contrast tink that would
fit here?

41 The sentence afterthe gap
gives a reason for something
stated-in the missing sentence.

42 Which ‘numbers’in the
next sentence are likely to be
‘increasing'?
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The ultimate green home:

the WWF's new headquarters.

Sandwiched between an incredibly ugly shopping
centre and a busy main road, the environmentalist

Sir David Attenborough, no less, is planting a tree
and declaring: ‘Today is a historic day." He really
means it.

Maybe our children’s future will be an overheated,
desert-like world, but if it's not, it will probably look
a lot like this. The new, highly environmentally-
friendly home of the World Wide Fund for Nature,
a hemispherical glass tube standing above a council car park, was officially opened today, watched by a small

but enthusiastic crowd. - )

Known as the ‘Living Planet Centre’, it has jumping panda animations that greet visitors to its WWF Experience,
where schoolchildren can interact with Ocean, River, Forest and Wildlife Zones. Since the mid-20th century,
many of the ideas behind humanity's attempts to protect animals and the natural world have been started by

the WWF. :

‘The World Wide Fund for Nature is one of the great hopes for the world,’ Sir David Attenborough said. ‘This
building enshrines that, and advertises it to the world.” The concrete is all recycled, as is the carpet and even most
of the computer equipment, and there are many solar energy panels. | 39 —‘ In addition, new habitats and
plant species have been installed around the gardens, while indoors a home has been found for three tall trees.

The sense of total calm inside, from the high curved ceilings to the plants and trees, is all the more remarkable
for the building’s urban location. It has been built between a canal and a small area of woods listed as a Site of

Special Scientific Interest. The contrast gives us an idea of what might just be possible in the future.

The WWF was set up in 1961. The organisation originally fought to protect individual species, such as the
| Arabian oryx, from extinction. Eventually, the focus moved from individual species to ecosystems: all the living
things in one area and the way they affect each other. Sir David, who is an ambassador for the WWF, said: ‘Now,
it'’s not just individual ecosystems. Now the change is to a global approach. a1 ] That is because the
planet is one vast ecosystem. The WWF has been the leader in changing everyone's attitudes towards nature.’

Sir David is clear about the task ahead, and more importantly, unlike many environmentalists, he believes it is

not too late to make a difference. 'You can't tum the clock back, of course. | 42 —] But we can slow down
the rate at which the numbers are increasing, we can cut down the carbon we put in the atmosphere,’ he said.
‘It's never happened before that the whole world has come together and made a decision. To go as far as we
have done to reduce carbon is an impressive achievement. But you cannot have unlimited growth in a limited

situation. You can't expand infinitely in a finite planet.
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